
1)

Answer: ____________

2) Round 27.306894 to 5 significant 
figures.

Answer: ____________

3) Simplify 10:6

Answer: ____________

4)
13  Find Volume of 
                         Pentagonal Pyramid 

10
10

Answer: ____________

5) Factorise x2 + 8x + 12

Answer: ____________

6) Decrease 60 by 75%

Answer: ____________

7)

A = 38  B
Find the Angle at side B.

Answer: ____________

8) Find area of triangle 
a = 41 cm, b = 98 cm

Answer: ____________

9) 10/2 x 1/4

Answer: ____________

10) 18/9 ÷ 54/7

Answer: ____________

11) (5 x 76) + (9 x 3-1)

Answer: ____________

12) 150 ÷ 10

Answer: ____________

13) 61 - 1

Answer: ____________

14) 108 ÷ 9

Answer: ____________

15) Find perimeter of 
square having each 
side (s) equals 45 m

Answer: ____________
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16) Solve by factorising 
x2 + 14x + 13 = 0

Answer: ____________

17) Increase 50 by 54%

Answer: ____________

18) 64 - 44

Answer: ____________

19) An amount was decreased by 7.4% to 
$438.00. Find the original amount.

Answer: ____________

20) 13/4 - 5/6

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 27.307 3) 5 : 3 4) 745.54020692189 5) (x + 2)(x + 6) 6) 15 7) 142

8) 727.89435188082cm 9) 11/4 10) 119/351 11) 588248 12) 15 13) 60 14) 12

15) 180m 16) x = -1 or -13 17) 77 18) 20 19) $405.59 20) 25/12
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